ANSWERS TO ACTIVITY 19 of sipro.
1.An eye defect is the inability of the eye to see properly.

2.Having small or short eyeball/Tension of the lens/Old age/Untreated eye
diseases.

3.Myopia is the inability to see distant objects clearly.
Hypermetropia is the inability to see nearby objects clearly.

Astigmatism is the inability to see both horizontal and vertical objects at the same
time.

4.Draw a concave lens
5.convex lens/b---cylindrical lenses.
6.see how a long sightedness is corrected and draw.

7.Long sightedness is when the person can see distant objects clearly while short
sightedness ia when a person can see nearby objects clearly.

MORE ABOUT LIGHT ENERGY.
Iritis ;it is a swelling caused by another disease or TB or injury to the eye.
Corneal ulcer; it is caused by an injury to the cornea of the eye.

Blepharitis; is an inflammation of the margin of the eye lids.The eye burns,itches
and swells.

QN. Which STD causes blindness in babies?

That’s Gonorrhoea.



